
N = 2377
2377 circles in a circle

radius =   0.019257655105
ratio  =  51.927402092643

density  = 0.881527754902
contacts = 4130

 E.SPECHT
31-MAY-2014

N = 2378
2378 circles in a circle

radius =   0.019253868208
ratio  =  51.937615299602

density  = 0.881551806600
contacts = 4231

 E.SPECHT
31-MAY-2014

N = 2379
2379 circles in a circle

radius =   0.019250248960
ratio  =  51.947380113470

density  = 0.881590990260
contacts = 4594

 E.SPECHT
31-MAY-2014

N = 2380
2380 circles in a circle

radius =   0.019245340148
ratio  =  51.960630069517

density  = 0.881511819455
contacts = 3748

 E.SPECHT
31-MAY-2014

N = 2381
2381 circles in a circle

radius =   0.019244590085
ratio  =  51.962655248825

density  = 0.881813463406
contacts = 3801

 E.SPECHT
31-MAY-2014

N = 2382
2382 circles in a circle

radius =   0.019244044583
ratio  =  51.964128210968

density  = 0.882133806040
contacts = 4003

 E.SPECHT
31-MAY-2014

N = 2383
2383 circles in a circle

radius =   0.019243742569
ratio  =  51.964943744137

density  = 0.882476439628
contacts = 2824

 E.SPECHT
09-AUG-2014

N = 2384
2384 circles in a circle

radius =   0.019226950506
ratio  =  52.010327883137

density  = 0.881306691795
contacts = 4580

 E.SPECHT
31-MAY-2014

N = 2385
2385 circles in a circle

radius =   0.019218781248
ratio  =  52.032435724742

density  = 0.880927303100
contacts = 4398

 E.SPECHT
31-MAY-2014

N = 2386
2386 circles in a circle

radius =   0.019207916179
ratio  =  52.061868174837

density  = 0.880300488797
contacts = 4350

 E.SPECHT
31-MAY-2014

N = 2387
2387 circles in a circle

radius =   0.019197161406
ratio  =  52.091034651342

density  = 0.879683511424
contacts = 5795

 E.SPECHT
31-MAY-2014

N = 2388
2388 circles in a circle

radius =   0.019190197639
ratio  =  52.109937521125

density  = 0.879413680816
contacts = 4487
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